Lattice Multiplication (H)

Use lattice multiplication to find each product.

3 6 1 8 7 7 2 4
9 5 6
0 9 9
7 7 4
36 x 907 = 18 x 597 = 77 x 694 = 24 x &8I3
’ 3 6 2 2 5 8 2
3 7 8
) 0 2
) 8 2
6 7 5 3 2 8 8 8
7 1 3
1 4 7
4 0 0
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Lattice Multiplication (H) Answers

23 x 322 =77,406

Use lattice multiplication to find each product.

0 14 5 4 /04
1 5 5.7 21 2
0 7 9 6 16
0o, 9 3L, 3 3
0 5 7 2 2
77 41 8|/ 8
4 6 3 8
18 x 597 = 77 x 694
10,746 53,438
6
4 1 7 1 N4
a1/ 2 21,7 6|7 0
0 0 0 0 1
3L, 0 o 4 0
4 1 3 0 1
8l 8 5., 4 0
9 6 5 0
62 x 708 = 25 x 822
43,896 20,550
> 0 12
010 1 1 6|/ 4
o, 5
5 1 I
Sy 4 0, 4, 6
0 10
010 0 3L, o, 0
4. 0 A
2 0
28 x 370
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